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West Bengal State University
B.A./B~Sc./B.Com. ( Honours, Major, General) Examinations, 2013

PART - II

PHILOSOPHY - GENERAL
Paper - III

( NEW & OLD SYLLABUS )
Duration: 3 Hours 1 [ Full Marks: 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.

~ <r~ ~ \S8ffiT CG1~<n~~ 1

~ ~~~~M-'1~ 001\5<151

( NEW SYLLABUS)
Group - A

f<r'5t'5'f-<f)
. Answer Question Nos. 1 & 2 compulsorily and any two from the rest within 300 words each.

1 OfO '8 2 OfO ~ ~ ~ ~<r0~ ~~m~ C~ c<rc<Wr~ 2lffi m ~ eo o ~ ~ ~I

1. Answer any five questions ( within two sentences each) : 5 x 2 = 10

c<r ~ ~ ~ ~ ~ (~~ ~~'m~ ~W):

a) What are meant by Sapaksa and Vipaksu ?

~9f1i1'1.!l<r~R9f1i1' ~ f<I5~ ?

b) Identify the Sadhua, Paksa and Hetu of the followinginference:
"The moon is hot, because it has a name."

d) Distinguish between Samauuapti and Asamauuapti.

~~ I.!l<r~~>1~<q1l~ 'm~9fT~ ~ 1

e) Who is the author of Nyaya Sutra ?

o:nm ~ ~ ~ c<1l?

H~fd1~ ~i~l~fG~~trr, 9f'ip I.!l<r~~ R~ ~ :

"~~,~l.!lfG~~I"

c) What are the constituents of Pararnarsa ?

~~f<I5f<15~~?
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1) Give an example of Kevala- Vyatireki anurniti.
\

~-"U~c~<$'1 \5lifil~ l!l~ ~q ffi I

g) Give suitable example of Purvavat and Sesauat Anumana.

~~ l!l<r~ ~~ \5lflIC"'i~ ~~ ~ ffi I

h) What is the meaning of 'Naya' in Jaina Philosophy?

~~'~'~\5f~~?

i) What is Suarthanumana ?

~~~<rCC1 ?

Jl What do you mean by Vyabhicdra ?

<111R,51~~ ~ ~ ?

2. Write short notes on any two within 100 words each:

~ c<lSR~~~ ~ ~oo ~~~~~~~rnt ~~:
a) Relation between anumiti and vydptij'iiana

\5l~fG l!l<r~ -mf~ ~

2 x 5 = 10

Paramarsa according to Nyaya school

"'111~~t\5~

c) Jaina Saptabhangi Naya

b)

d) The function of each of the avayavas of Pararthiinurnaria.

~~flIC"'i~ ~ \5l<1~C<1~<1"14<1"lKl\511

3. Define Vyapti with example. Classify Vyapti. Explain how Vyapti is known according to
Nyaya philosophy. 4 + 2 + 9

~~ -mf~ ~~~ ffi I -mf~ 2l<1"1~t\S'T~~ I "'111~~t\!l-mf~~ ~ m \5T<m~ ~ I

4. Explain with suitable examples Keualanuaui, Kevalavydtireki and ArJ.vaydvydtireki
inferences. 5 + 5 + 5

C<1"<1C11'J~t~-<1lfGC~<$'1l!l<r~ ~-<1lfGC~<$'1 \5l~~ "@-~ ~~ <m~ ~ I

5. Criticallyexplain Jaina Shyddvdda.

0sM~~<m~~1

6. Explain the definition of anurniti. What is the karana of anumiti ? In this context,
explain the nature of Paksadharrnatajfiana. 8 + 2 + 5

\5l~M~ G'f'l'f'<;f<m~ ~ I \5lifilM~ <!5Bfq ~ ? l!l~ ~ ~(~1i&31C"'i~ ~9f <m~ ~ I
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Group - B

~~-~
Answer Question Nos. 7 & 8 compulsorily and any two from the rest.

7.,~ '{38.,~ ~ ~\!l~~ ~ ~~m~<rTC~~c<Wf~~ ~~I

7. Answer any five questions: 5 x 2 = 10

cqc<ISR~~~~ :

a) Not any guest stayed for dinner. Give the logical form of this sentence.

c<ISR \5I1~8!\5 <rr~ W1~IC8Hl ~ ~ I - <l1<Plro~1Mof<lIS3I"Pl"i1\5~9f ~ I

Is simple conversion of A proposition possible?

A ~ ~-\5II<l~ ~ ~ ?

Fill in the blank :
The subject of the convertend will be the of the converse.

1"'l1~1"'l~'"i~:

\5I1<l~C~~ ~"fT \5I1<lRbt\5~ : WI

d) "Nothing is both round and square." Give the logical form of this statement and
state which term is distributed.

"c<ISR ~ "1~9f~ C'51Wll<pl~'{3 ~~ ~ 9fT@ Ofll" <l1<Plro~'{R3>f<lIS3I"'l>1"i1\5~9f ~ \!l~~ C<PR

~<rr19fT ~\5l ~I

e) Express in Boolean notations and draw Venn diagram :
"Some non-philosophers are not non-poets."

~ W9f1:\5 ~ ~ \!l~~ ~ <X~ :

•.c<ISR c<ISR \5f -~ ~ \5f -<m- I "

f) Give an example of an argument which commits the fallacy of illicit major.

~~ ~~ ~ \!l<!$ ~ ~'"i N-=r I

g) Use truth-table to define the logical connective' v'.

>1\51>11~~ ~ C~Mo<p ~ 'v '-\!l~ ~~~ ~I

h) Symbolize the following:
p if and only if q.

~®<PIR.l\5 ~ :

p, ~ \!l~~~ ~ q

i] What are the names of valid moods of syllogism in first figure?

~ 2f~ ~~~ C<l-~ ~m ~ ~ ?
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j) If p is false, then determine the truth-value of (pv - p) v r .

<IN p~~~, ~ (pv - p)vr-~~ >j\WiC11~Cl ~I

8. Write short notes on any two :

a) Material obversion

b). Existential fallacy

\51~~~C1~ ~

c) Boolean interpretation of categorical syllogism

d) Opposition of proposition.

9. Test the validity of the following syllogisms or syllogistic forms by means of Venn
diagram ('any three). 3 x 5 = 15

C&ifbC\£l~ >j1~1~1 H~M~ ~ <n "m~I~I~~~ C<f~1 ~ ~ (0r c<!SR~)

a) EAO- 1
b) AAA- 2
c) Children are always cowards, but not always liars, therefore liars are not always

cowards.

d) No Republicans are Democrats; so some Democrats are wealthy men, since some
wealthy men are not Republicans.

~'8TI\5®'$lI~ ~~ <nT; ~~ ~ ~~ ~, ~Cl ~ ~ ~ <nT I

10. Test the validity of the following with the help of truth table ( any three) :

>1"'I>jI~~ >j1~IC~1C<f~ ~ ~ ( 0r c<!SR ~ )

a) ( A vB) :::> ( A . B )

AB t : A v B

b) OvP
0/ :.-P

c) (GvH):::>I

I:::> (G. H) / :. (G v H) :::> (G. H)

3 x 5 = 15
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d) . If reservation for the lower caste is effective then there will be either social
progress or social imbalance. There is no social imbalance. So if there is social
progress then reservation for the lower caste is not effective.

~ ~r;fu 'eMT "'~~Cj ~ <P1l[<P~ ~ ~ ~ >j~JGi6T~~~?fR5 W ~~ >j~Jti6T~~I~>jl~l

~ WI "'~·~I~>jl~l ~ ~ RI ~<r ~ >j~IC6T~~~?fR5 ~ ~ ~ ~

.,,~~Cj <rrryJ <Pll[<tS~ ~ on I

1l. What do you mean by distribution of terms? Explain and illustrate it with the help of
categorical proposition. 15

, ~ <ffi9f1\5T ~ f<ls ~ ? ~~ ~ ~ ~ <m~ ~~fc1 ~~"f <ffi~

~I

]2. Explain and examine Mill's method of Difference.

~ <llMC~~ ~ <r1l~ \S ~ ~ I

15
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( OLD SYLLABUS)
Group - A

~~-~
Answer Question Nos. 1 & 2 compulsorily and any two from the rest.

l.,~'8 2"~~~~~~ ~~~m-m~c~c<J~~~~~1

1. Answer any five questions : 5 x 2 = 10

c<J~~~~~:

a) State the ~ames of two Astika and two Nastika sects of Indian Philosophy.
'51~®~ ~ ~ ~ '{3 ~ ~ ~ ~ ~~ ~I

b) Name the different types of Laukika Sannikarsa,
~ ~ ~ >jrn<pc4'~~ ~ I

c) What is jfianalaksana pratyaksa ? Give an example.
Ie3I"Wl'll'Gl~ ~ ~ ? ~~ ~Gl ~ I

d) What is the difference between Samanya and .Jati ?
~ '{3 ~ 9fT~ ~ ?

e)· How many Pram an as are admitted by the Carvakas ?
bl41<p~1~ ~ ~Gl ~ ~ ?

f) How many Padarthas are admitted by the Vaisesikas ? Give their names in
order.

~~<P ~ ~ ~ 9NT~ ~ ~ ? \£l>~I"P1lt~~ ~ ~~. I

g) What are the different kinds of abhava according to Vaisesika philosophy? Give
their names.

~~<P~~~~~~~?~~~~I .
h) How many types of laksana of Brahman are admitted in Advaitavada ? What are

their names ?

2.

~~~~~Gl~~?~~~~~1

i) What sort of contact is required in the perception of 'a blue jar' ?

H~fd1~ ~ c<l5R ~ ~ ~ ?

'~~RC~W'

j) State the names of the two powers of Maya.

~~~~~I

Answer in brief on any two of the following :
H~fd1~ c<J~ ~ f<l<mr '>j"~~~ ~ ~ :

a) Distinguish between Savikalpaka and Nirvikalpaka perceptions.
>jf<l<P~<P'{3 Hf<f~~<p ~ 9fT~ ~ I

2 x 5 = 10
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b) Explain Vaisesika Paramanuvada in brief.

ffi"18l~ ~~ "'~~9f <m~ ~ I

c) Distinguish between Svarthariurniti and Pararthanurniti.

~~ '8 ~~i~®.q 9fT~ ~ I

\s· ....;:.vIDY"'t, d) Define perception according to Nyaya.
''1'.,k

OJ';:' 7~ Oill~~C\!l ~ .,,~~ ~ I

3. w does Carvaka refute inference as an independent valid source of knowledge? 15

•.,..:"Qj QJT~~ ~~." ~ '6lrplIC"'l'!tl 2fNfCfT ~'SlCf ~ ~~'f <H~C~ ?
, (.:EtJ\~~

Define and critically explain Visesa according to Vaisesika philosophy. 15

~ "P'f"'llrp1IC~ ~ ~~-l!l~~~~ f?mr ~ '6llci7JlbOiI~ I

5. Explain in detail the nature of Maya according to Advaita Vedanta. Discuss in this
connection the relation between world and Brahman. 15

~ ~9f ~ ~ ~ ~ MQ3IB1\5 '6l1Ci7JlbOil~ I l!l~ ~ ~ '8 'Sf~ ~ '6l1CC1lbOil

~I

6. Defme Vyapti following Nyaya view. How is Vyapti known according to Nyaya
. philosophy? 15

Oill~~\51i>jIC~ <mf~ m9fCf ~I Oill~~~ .<mf~ ~ \gfT'ff <mr ?

Group - B

~~-~
Answer Question Nos. 7 & 8 compulsorily and any two from the rest~

7 'f~ '8 8 'f~~ '6l1<1~ l!l~~ ~ ~~~ ~i:rt C~ ~ c<l5R ~ ~ ~ ~ I

7. Answer any five questions : 5 x 2 = 10

c<r~~~~~:
a) What are the main tenets of idealism ?

~l<1<1Wt'!tl ~ ~ f<l5 ?

b) Who are the rationalist philosophers?

~<ll~~~~~?

c) Give two examples of synthetic propositions.

"'~~~~~Cf~1

d) Who holds the view that A is the cause of B means that B regularly follows A ?

.~, ~-l!l~ <lSRfCf' - l!l<7S~ '5f~ ~ '~', '~' -l!l~ ~ \5Ff~ I - l!l~ <lSRf ~ ?

e) Who is the propounder of mind-body interactionism ?

QR '8 ~ M-2lM~~l<11O't'!tl ~ C<7S?
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f) "Allideas are innate." Who uphold this view?

.•~ ~~ >j?<'8iI~I" - ~~ ~ <ffi:T ?

g) What does Hume mean by 'impression' ?

'~9'~~f<Is~?

h) What is a priori proposition ?

,<{~f>1>:h ~ <ffi<lS~ ?

i) "Substance = Nature -: God." Whose view is this?

..~ = ~ = ~ I" - ~m<ffi:Tm5 ?

j) How many kinds of substances are admitted by Descartes and what are they?

~ <P.T ~ ~ ~ <lSC~C~~ ~<T~ C>1"~~ f<Isf<Is ?

Answer in brief on any two of the following :

H~f¢1m~ C<lSR ~ ~ ~~N~~ ~ :
a) Explain Rationalism as a theory of the origin of knowledge.

~ ~e,9ffu~ 1Gi1~1~m5 <m~ ~I

b) Explain briefly the main tenets of Naive Realism.

~ ~~~IOt~ ~ \5W~~ <m~ ~ I

c) Give a brief account of Parallelism as the theory of mind-body relation.

QR '8 ~ ~ ~ >j~I~~li:'j~11t ~ ~~N~~COf ~ I

d) Explain Berkeley's subjective idealism.

~14cG"j~~'>j\3 ~1~~11t <m~ ~I-

Answer any two questions:

2 x -5 = 108.

2 x 15 = 30

~C<lSR~~~~ :

9. Critically explain Entailment theory of causation.

"<lSl<f-~COf ~ ~ ~ \5W ~ <m~ ~ I

10. Explain and examine Interaction theory regarding the relation between mind and
body.

C"R '8 ~ ~ ~ M-~MQf>!'lI~11t <m~ '8 mrn ~ I

11. Critically explain the Representative Realism;

~~~~\!lIICG"jlb~I~1

12. Explain critically empiricists' view as a theory of the source of knowledge.

~ ~e,~ ~ \!lIN:,'8S\!)I~I~Ot~~ >j~ICG"jlb~I>j?<~"f11


